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Abstract: In this paper, we obtain the Fekete-szego inequality defined on the class of analytical functions normalized 

in the unit disk, which is defined by generalized derivative operator and the Hadamard product with a normalized 

analytic function. The main purpose of this paper is to give an estimate for the Fekete szego inequality when 𝑓 ∈

Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾). 
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Introduction: 

Let 𝒜 denote the class of functions  𝑓 of the form  

                   𝑓(𝑧) = 𝑧 + ∑ 𝑎𝑘𝑧
𝑘∞

𝑘=2     (1) 

which is analytic in the open unit disk 

𝔻 = {𝑧 ∈ ℂ  ;  |𝑧| < 1},   
and satisfy the normalization condition   

𝑓(0) = 0    ,   𝑓̀(0) = 1. 
and   

𝑔(𝑧) = 𝑧 + ∑ 𝑏𝑘𝑧
𝑘∞

𝑘=2  , 𝜑(𝑧) = 𝑧 + ∑ 𝓌𝑘𝑧
𝑘∞

𝑘=2 , and 

𝜓(𝑧) = 𝑧 + ∑ 𝑑𝑘𝑧
𝑘∞

𝑘=2  be analytic the functions in 𝔻 

where 𝑏𝑘, 𝓌𝑘, 𝑑𝑘 > 0 and  𝓌𝑘 > 𝑑𝑘 , and we defined 

the Hadamard product as follows : 

𝑔(𝑧) ∗ 𝜑(𝑧) = 𝑧 + ∑ 𝑏𝑘𝓌𝑘𝑧
𝑘∞

𝑘=2 ,  
(2) 

𝑔(𝑧) ∗ 𝜓(𝑧) = 𝑧 + ∑ 𝑏𝑘𝑑𝑘𝑧
𝑘∞

𝑘=2 .  
Now we define the class by 

 𝑓 ∈ Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾), as follows. 

 

Definition 1[1]: 

Let the function 𝑓 be given by (1). Then, the function 

𝑓 ∈ Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾) ;  𝑛,𝑚 ∈ ℕ0 =

{0,1,2, … . } , 𝜆2 ≥ 𝜆1 ≥ 0 , 𝑙 ≥ 0, 0 ≤ 𝛼 < 1, 0 ≤ 𝛽 <
1, and 0 ≤ 𝛾 < 1 if and only if there  

exists 𝑔 ∈ 𝒜  ,𝑔(𝑧) ≠ 0 such that: 

𝑅𝑒 (
𝛼𝑧2(𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧))

′′

𝑔(𝑧)

+
𝑧(𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧))

′

𝑔(𝑧)
)

>  𝛽,      (3) 

                𝑅𝑒 (
𝑔(𝑧)∗𝜑(𝑧)

𝑔(𝑧)∗𝜓(𝑧)
) >  𝛾,   for  𝑧 ∈ 𝔻   (4)                                                   

for some  𝜑(𝑧) and 𝜓(𝑧) both is analytic in  𝔻  

such that 𝑔(𝑧) ∗ 𝜓(𝑧) ≠ 0 , 𝓌𝑘, 𝑑𝑘 > 0 and  𝓌𝑘 >
 𝑑𝑘  , 𝑘 ≥ 2.  
In order to derive the generalized derivative  

operator, we define the analytic function  

 𝜙𝑚(𝜆1, 𝜆2, 𝑙)(𝑧)

= 𝑧 +∑
(1 + 𝜆1(𝑘 − 1) + 𝑙)

𝑚−1

(1 + 𝑙)𝑚−1(1 + 𝜆2(𝑘 − 1))
𝑚

∞

𝑘=2

𝑧𝑘 , (5) 

where 𝑚 ∈ ℕ0 = {0,1,2, … }  and  𝜆2 , 𝜆1, 𝑙 ∈ ℝ  

such that  𝜆2 ≥ 𝜆1 ≥ 0 , 𝑙 ≥ 0 . 
 

Now, we introduce the new generalized derivative  

operator 𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧) as the following: 

 

Definition 2 [2]:  

        For 𝑓 ∈ 𝒜 the operator 𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛) is  

defined by 𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛): 𝐴 ⟶ 𝐴 

𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧) = 𝜙
𝑚(𝜆1, 𝜆2, 𝑙)(𝑧) ∗

𝑅𝑛𝑓(𝑧)   , (𝑧 ∈ 𝔻)                             (6)                      

Where 𝑚 ∈ ℕ0 = {0,1,2, … . }   and 𝜆2 ≥ 𝜆1 ≥ 0 , 
 𝑙 ≥ 0, and 𝑅𝑛𝑓(𝑧) denotes the Ruscheweyh  

derivative operator [3] ,and given by  

𝑅𝑛𝑓(𝑧) = 𝑧 +∑𝑐(𝑛, 𝑘)𝑎𝑘𝑧
𝑘

∞

𝑘=2

, (𝑛 ∈ ℕ0, 𝑧 ∈ 𝔻), 

If 𝑓 is given by (1), then we easily find from the 

 equality (6) that  

𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧)

= 𝑧 +∑
(1 + 𝜆1(𝑘 − 1) + 𝑙)

𝑚−1

(1 + 𝑙)𝑚−1(1 + 𝜆2(𝑘 − 1))
𝑚 𝑐(𝑛, 𝑘)𝑎𝑘𝑧

𝑘 ,

∞

𝑘=2

 

where  𝑛,𝑚 ∈ ℕ0 = {0,1,2, … . } , 𝜆2 ≥ 𝜆1 ≥ 0  

, 𝑙 ≥ 0,  𝑐(𝑛, 𝑘) =
(𝑛+1)𝑘−1

(1)𝑘−1
 . 

 

Preliminary Results 
Lemma 1[4]: 

Let ℎ be analytic in 𝔻 with  𝑅𝑒 ℎ(𝑧) > 0 and be  

given by ℎ(𝑧) = 𝑐1𝑧 + 𝑐2𝑧
2 + 𝑐3𝑧

3 +⋯, for 

 𝑧 ∈ 𝔻 , then , 

|𝑐𝑛| ≤ 2 where 𝑛 ≥ 1 ,  |𝑐2 −
𝑐1
2

2
| ≤ 2 −

|𝑐1|
2

2
 .  (7)    

  Lemma 2[5]: 

Let 𝑔 ∈ 𝑆∗ ,the starlike function with  

𝑔(𝑧) = 𝑧 + 𝑏2𝑧
2 + 𝑏3𝑧

3 +⋯ .Then for 𝜇 real, 
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|𝑏3 − 𝜇𝑏2
2| ≤ 𝑚𝑎𝑥{1, |3 − 4𝜇|}.          (8) 

The first result for the class is as follows. 

 
Theorem 1 : 

Let the function 𝑓 given by (1) belong to the class  

Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾) and 0 ≤ 𝛼 < 1.Then, 

(𝛼 + 1)Α|𝑎2| ≤
(𝓌2 − 𝑑2)(1 −  𝛽) + 1 − 𝛾

𝓌2 − 𝑑2
, 

 (9) 

3(2𝛼 + 1)Β|𝑎3| ≤
4(1 − 𝛾)2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
4(1 − 𝛾)(1 −  𝛽)

𝓌2 − 𝑑2
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 −  𝛽). 

Where 

Α =
(1 + 𝜆1 + 𝑙)

𝑚−1

(1 + 𝑙)𝑚−1(1 + 𝜆2)
𝑚
𝐶(𝑛, 2), 

Β =
(1 + 𝜆1(2) + 𝑙)

𝑚−1

(1 + 𝑙)𝑚−1(1 + 𝜆2(2))
𝑚 𝐶(𝑛, 3) 

 

Proof 
 From definition, we have 

𝑔(𝑧) ∗ 𝜑(𝑧) = (𝑝(𝑧)(1 − 𝛾) + 𝛾)(𝑔(𝑧) ∗ 𝜓(𝑧)) , 

                                                                          (10) 

     For any 𝑧 ∈ 𝔻, with 𝑅𝑒𝑝(𝑧) > 0 given by 𝑝(𝑧) =
1 + 𝑝1𝑧 + 𝑝2𝑧

2 + 𝑝3𝑧
3 +⋯, where 

 𝑝1, 𝑝2, 𝑝3, ⋯ ∈ ℂ. 
 From (10), we have 

𝑧 + 𝑏2𝓌2𝑧
2 + 𝑏3𝓌3𝑧

3 +⋯ = (𝑧 + 𝑏2𝑑2𝑧
2 +

𝑏3𝑑3𝑧
3 +⋯) + (𝑝1(1 − 𝛾)𝑧

2 + 𝑝1(1 − 𝛾)𝑏2𝑑2𝑧
3 +

⋯) + (𝑝2(1 − 𝛾)𝑧
3 + 𝑝2(1 − 𝛾)𝑏2𝑑2𝑧

4 +⋯).                               
(11) 

Now, equating coefficients, we get  

    𝑏2(𝓌2 − 𝑑2) = 𝑝1(1 − 𝛾) ,  (12)                                                         

𝑏3(𝓌3 − 𝑑3) = 𝑏2𝑑2𝑝1(1 − 𝛾) + 𝑝2(1 − 𝛾). (13)    

And also follows from (3) that  

𝛼𝑧2(𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧))
"
+ 𝑧(𝐼𝑚(𝜆1, 𝜆2, 𝑙, 𝑛)𝑓(𝑧))

′
=

 𝑔(𝑧)(ℎ(𝑧)(1 − 𝛽) + 𝛽),           (14) 

where 𝑅𝑒ℎ(𝑧) > 0, and writing ℎ(𝑧) = 1 + 𝑐1𝑧 +
𝑐2𝑧

2 + 𝑐3𝑧
3 +⋯,  where 𝑐1, 𝑐2, 𝑐3, ⋯ ∈ ℂ , and now 

2𝛼Α𝑎2𝑧
2 + 6𝛼Β𝑎3𝑧

3 +⋯+ 𝑧 + 2Α𝑎2𝑧
2 +

3Β𝑎3𝑧
3 +⋯ = (𝑧 + 𝑐1(1 − 𝛽)𝑧

2 + 𝑐2(1 − 𝛽)𝑧
3 +

⋯) + (𝑏2𝑧
2 + 𝑐1(1 − 𝛽)𝑏2𝑧

3 +⋯) + (𝑏3𝑧
3 +

𝑐1(1 − 𝛽)𝑏3𝑧
4 +⋯) +⋯  (15)                                     

         and equating coefficients give  

2(𝛼 + 1)Α𝑎2𝑧
2 = 𝑐1(1 − 𝛽)𝑧

2 + 𝑏2𝑧
2,         (16)                       

3(2𝛼 + 1)Β𝑎3𝑧
3 = (1 − 𝛽)(𝑐2 + 𝑏2𝑐1)𝑧

3

+ 𝑏3𝑧
3,                                 (17)  

    

from equation (16 ), (17) we obtain 

2(𝛼 + 1)Α𝑎2 = 𝑐1(1 − 𝛽) + 𝑏2,                    (18)                              

3(2𝛼 + 1)Β𝑎3 = (1 − 𝛽)(𝑐2 + 𝑏2𝑐1) + 𝑏3.   (19) 

 from equation (18 ) we find 𝑎2
2 , 

Α𝑎2 =
𝑐1(1 − 𝛽)

2(𝛼 + 1)
+

𝑏2
2(𝛼 + 1)

 

We get: 

𝑎2 =
𝑐1(1 − 𝛽)

2(𝛼 + 1)Α
+

𝑏2
2(𝛼 + 1)Α

   ⇒  𝑎2
2

= (
𝑐1(1 − 𝛽)

2(𝛼 + 1)Α
+

𝑏2
2(𝛼 + 1)Α

)

2

 

 The result follows applying in equalities: 
|𝑝1| ≤ 2 , |𝑝2| ≤ 2, |𝑐1| ≤ 2, |𝑐2| ≤ 2 , and from (12), 

(13) we get 𝑏2 =
2(1−𝛾)

(𝓌2−𝑑2)
⇒ |𝑏2| ≤

2(1−𝛾)

(𝓌2−𝑑2)
 , and 

 𝑏3 =
4(1−𝛾)2𝑑2

(𝓌3−𝑑3)(𝓌2−𝑑2)
+

2(1−𝛾)

𝓌3−𝑑3
 

⇒ |𝑏3| ≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
. 

From (18) we obtain  

                       (𝛼 + 1)Α𝑎2 =
𝑐1(1− 𝛽)

2
+

𝑏2

2
  

≤
2(1 −  𝛽)

2
+

2(1 − 𝛾)

2(𝓌2 − 𝑑2)
 , 

∴ (𝛼 + 1)Α|𝑎2| ≤
(𝓌2 − 𝑑2)(1 −  𝛽) + 1 − 𝛾

𝓌2 − 𝑑2
 . 

From (19) we obtain  

3(2𝛼 + 1)Β|𝑎3| ≤ 2(1 − 𝛽) + 2(1 − 𝛽) (
2(1−𝛾)

2(𝓌2−𝑑2)
) +

4(1−𝛾)2𝑑2

(𝓌3−𝑑3)(𝓌2−𝑑2)
+

2(1−𝛾)

𝓌3−𝑑3
,  

3(2𝛼 + 1)Β|𝑎3| ≤ 2(1 − 𝛽) +
4(1 − 𝛽)(1 − 𝛾)

𝓌2 − 𝑑2

+
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
. 

Now we display the main result for the class 

Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾). 

 

Main Result  
 

Theorem 2. 

Let the function 𝑓 be given by (1) and belong to the class Δ𝑛,𝑚
𝜆1,𝜆2,𝑙(𝜑(𝑧), 𝜓(𝑧); 𝛼, 𝛽, 𝛾). Then 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤

{
 
 
 
 
 

 
 
 
 
 4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
4(1 − 𝛾)(1 −  𝛽)

𝓌2 − 𝑑2
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 −  𝛽) −

3(2𝛼 + 1)Β𝜇(1 − 𝛾 + (1 − 𝛽)(𝓌2 − 𝑑2))
2
 

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

 𝑖𝑓 𝜇 ≤ 𝜇0 ,

4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

−
4(1 − 𝛾)2

(𝓌2−𝑑2)
2 +

2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 −  𝛽) +

4(𝛼 + 1)2(1 − 𝛾)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2𝜇 Β

     𝑖𝑓 𝜇0 ≤ 𝜇 ≤ 𝜇1,                             

4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

−
2(1 − 𝛾)2

(𝓌2−𝑑2)
2
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 −  𝛽)       𝑖𝑓    𝜇1 ≤ 𝜇 ≤ 𝜇2 ,                                                                                

−
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
−
4(1 − 𝛾)(1 −  𝛽)

𝓌2 − 𝑑2
−
2(1 − 𝛾)

𝓌3 − 𝑑3
− 2(1 −  𝛽) +

3(2𝛼 + 1)Β𝜇(1 − 𝛾 + (1 − 𝛽)(𝓌2 − 𝑑2))
2
 

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

 𝑖𝑓 𝜇2 ≤ 𝜇 ,
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 Where 

𝜇0 =
𝜇1(1 − 𝛾)

1 − 𝛾 + (1 − 𝛽)(𝓌2 − 𝑑2)
 , 

𝜇1 =
2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β
  , 

𝜇2 =
𝜇0(𝓌2 − 𝑑2)

2

1 − 𝛾 + (1 − 𝛽)(𝓌2 − 𝑑2)
(

4(1 − 𝛾)𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
2

𝓌3 − 𝑑3
+
2(1 −  𝛽)

(1 − 𝛾)
+
2(1 −  𝛽)

(𝓌2 − 𝑑2)
−

(1 − 𝛾)

(𝓌2 − 𝑑2)
2
). 

 

Proof 

3(2𝛼 + 1)Β(𝑎3 − 𝜇𝑎2
2) = 3(2𝛼 + 1)Β𝑎3 − 3(2𝛼 + 1)Β𝜇𝑎2

2 .            (20)                                                                        

From (18) we get, 𝑎2 =
𝑐1(1−𝛽)

2(𝛼+1)Α
+

𝑏2

2(𝛼+1)Α
⇒ 𝑎2

2 = (
𝑐1(1−𝛽)

2(𝛼+1)Α
+

𝑏2

2(𝛼+1)Α
)
2

, 

from (19) and the value 𝑎2
2  substituting by  

together in (20),  

3(2𝛼 + 1)Β(𝑎3 − 𝜇𝑎2
2) = (1 − 𝛽)(𝑐2 + 𝑏2𝑐1) + 𝑏3  − 3(2𝛼 + 1)Β𝜇 (

𝑐1(1 − 𝛽)

2(𝛼 + 1)Α
+

𝑏2
2(𝛼 + 1)Α

)

2

, 

= (1 − 𝛽)𝑐2 + (1 − 𝛽)𝑏2𝑐1 + 𝑏3—3(2𝛼 + 1)Β𝜇 (
𝑐1
2(1 − 𝛽)2

4(𝛼 + 1)2Α2
+
𝑐1𝑏2(1 − 𝛽)

2(𝛼 + 1)2Α2
+

𝑏2
2

4(𝛼 + 1)2Α2
), 

= (1 − 𝛽)𝑐2 + (1 − 𝛽)𝑏2𝑐1 + 𝑏3—
3(2𝛼 + 1)Β𝜇𝑐1

2(1 − 𝛽)2

4(𝛼 + 1)2Α2
−
3(2𝛼 + 1)Β𝜇𝑐1𝑏2(1 − 𝛽)

2(𝛼 + 1)2Α2
−
3(2𝛼 + 1)Β𝜇𝑏2

2

4(𝛼 + 1)2Α2
, 

= 𝑏3 −
3(2𝛼+1)Β𝜇𝑏2

2

4(𝛼+1)2Α2
+ (1 − 𝛽)𝑐2 + 𝑏2𝑐1(1 − 𝛽) (1 −

3(2𝛼+1)Β𝜇

2(𝛼+1)2Α2
 ) + 𝑐1

2(1 − 𝛽)2 (
2(𝛼+1)2Α2−3(2𝛼+1)Β𝜇

4(𝛼+1)2Α2
−

1

2
),   (21)  

From (21), we have, 
3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2

2|

≤ |𝑏3 −
3(2𝛼 + 1)Β𝜇𝑏2

2

4(𝛼 + 1)2Α2
| + |(1 − 𝛽)𝑐2 −

1

2
𝑐1
2(1 − 𝛽)2|

+
|𝑐1|

2(1 − 𝛽)2

4(𝛼 + 1)2Α2
|2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β|

+
|𝑏2||(1 − 𝛽)𝑐1|

2(𝛼 + 1)2Α2
 |2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β|.                                     (22) 

Now, consider the first case for all  

2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β ≥ 0   

  ⟹ ∴  𝜇 ≤
2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β
 

Note that  

2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇 Β > 0  and  

𝑏3 −
3(2𝛼+1)𝜇𝑏2

2Β

4(𝛼+1)2Α2
> 0 ,  from lemma 1 

 

|𝑐2(1 − 𝛽) −
𝑐1
2(1−𝛽)2

2
| ≤ 2(1 − 𝛽) −

|𝑐1|
2(1−𝛽)2

2
  

and inequalities 

|𝑏2| ≤
2(1 − 𝛾)

(𝓌2 − 𝑑2)
   

and 

|𝑏3| ≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
 , 

Substuting |𝑏2| , |𝑏3| in (22)  

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
−
(4)3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

4(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

+ 2(1 − 𝛽) −
|𝑐1|

2(1 − 𝛽)2

2

+
2(1 − 𝛾)|𝑐1|(1 − 𝛽)

2(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

[2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β]

+
|𝑐1|

2(1 − 𝛽)2

4(𝛼 + 1)2Α2
[2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β], 
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3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
−
3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

+ 2(1 − 𝛽) −
|𝑐1|

2(1 − 𝛽)2

2

+
2(1 − 𝛾)|𝑐1|(1 − 𝛽)2(𝛼 + 1)

2Α2

2(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

−
2(1 − 𝛾)|𝑐1|(1 − 𝛽)3(2𝛼 + 1)𝜇Β

2(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

+
2|𝑐1|

2(1 − 𝛽)2(𝛼 + 1)2Α2

4(𝛼 + 1)2Α2
−
|𝑐1|

2(1 − 𝛽)23(2𝛼 + 1)𝜇Β

4(𝛼 + 1)2Α2
, 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

−
3(2𝛼 + 1)𝜇|𝑐1|

2(1 − 𝛽)2Β

4(𝛼 + 1)2Α2
+
2(1 − 𝛾)|𝑐1|(1 − 𝛽)(𝛼 + 1)

2Α2

2(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

−
3(2𝛼 + 1)(1 − 𝛾)(1 − 𝛽)|𝑐1|𝜇Β

(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

, 

 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2Β𝜇

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

−
3(2𝛼 + 1)𝜇|𝑐1|

2(1 − 𝛽)2Β

4(𝛼 + 1)2Α2

+
(1 − 𝛾)(1 − 𝛽) (2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β) |𝑐1|

(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

                     (23) 

= 𝒬(𝑥) ; 𝑥 = ⌈𝑐1⌉. 
We defined  𝑥 

𝒬(𝑥) = 𝑥2 −
4(1 − 𝛾)(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)

3(2𝛼 + 1)𝜇(1 − 𝛽)(𝓌2 − 𝑑2)Β
𝑥 −

16(1 − 𝛾)2(𝛼 + 1)2Α2𝑑2 

3(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)(2𝛼 + 1)(1 − 𝛽)
2𝜇Β

−
8(1 − 𝛾)(𝛼 + 1)2Α2

3(𝓌3 − 𝑑3)(2𝛼 + 1)(1 − 𝛽)
2𝜇Β

−
8(𝛼 + 1)2Α2

3(2𝛼 + 1)(1 − 𝛽)𝜇Β
+

4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2(1 − 𝛽)2

, 

After doing some operations, we get  

𝑥 =
2(1 − 𝛾)(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)

3(2𝛼 + 1)(𝓌2 − 𝑑2)(1 − 𝛽)𝜇Β
 

Now, substuting in (23) 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)𝜇(1 − 𝛾)2Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

−

, 3(2𝛼 + 1)𝜇(1 − 𝛽)2 Β (
2(1 − 𝛾)(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)

3(2𝛼 + 1)(𝓌2 − 𝑑2)(1 − 𝛽)𝜇Β
)
2

 4(𝛼 + 1)2Α2

+ 
 (1 − 𝛾)(1 − 𝛽)( 2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β) (

2(1 − 𝛾)(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)
3(2𝛼 + 1)(𝓌2 − 𝑑2)(1 − 𝛽)𝜇Β

)

 (𝓌2 − 𝑑2)(𝛼 + 1)
2Α2

, 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

−
4(1 − 𝛾)2(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)2

(4)3(2𝛼 + 1)(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2𝜇Β

+
2(1 − 𝛾)2(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2𝜇Β

, 

 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

+
(1 − 𝛾)2(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2𝜇Β

, 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

+          
(1 − 𝛾)2 (4(𝛼 + 1)4Α4 − 12(𝛼 + 1)2(2𝛼 + 1)Α2𝜇Β + 9(2𝛼 + 1)2𝜇2Β2)

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2𝜇Β

 , 
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3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+  
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

+
4(1 − 𝛾)2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2𝜇Β

−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
3(2𝛼 + 1)(1 − 𝛾)2𝜇Β

(𝛼 + 1)2(𝓌2 − 𝑑2)
2Α2

 , 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) +

4(1 − 𝛾)2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2𝜇Β

−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
                                                   (24) 

Now ⌈𝑥⌉ ≤ 2 we get interval 

2(1 − 𝛾)(2(𝛼 + 1)2Α2 − 3(2𝛼 + 1)𝜇Β)

3(2𝛼 + 1)(𝓌2 − 𝑑2)(1 − 𝛽)𝜇Β
≤ 2, 

4(1 − 𝛾)(𝛼 + 1)2Α2

6(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
≤ 𝜇 , 

then 

2(1 − 𝛾)(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
≤ 𝜇   (25) 

hence result (24) concludes for the case 

2(1 − 𝛾)(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
≤ 𝜇   ≤

2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β
 

Second, consider the case 𝜇 ≤ 𝜇0 

𝜇 ≤ 𝜇0 =
2(1 − 𝛾)(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
, 

Write :  
𝑎3 − 𝜇𝑎2

2 = 𝑎3 − 𝜇0𝑎2
2 + 𝜇0𝑎2

2 − 𝜇𝑎2
2, 

         

|𝑎3 − 𝜇𝑎2
2| ≤ |𝑎3 − 𝜇0𝑎2

2| + |𝜇0 − 𝜇||𝑎2
2|,        (26) 

From lemma (3), we obtain: 

|𝑎2| ≤
(1 −  𝛽)

(𝛼 + 1)Α
+

(1 − 𝛾)

(𝓌2 − 𝑑2)(𝛼 + 1)Α
⇒ |𝑎2| ≤

(𝓌2 − 𝑑2)(1 −  𝛽) + (1 − 𝛾)

(𝓌2 − 𝑑2)(𝛼 + 1)Α
       (27) 

From (26), substituting|𝑎3 − 𝜇𝑎2
2|,  

Then, we get  

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2| ≤ 3(2𝛼 + 1)Β|𝑎3 − 𝜇0𝑎2

2| +    3(2𝛼 + 1)Β|𝜇0 − 𝜇||𝑎2
2|,       (28) 

 From (26) substituting |𝑎3 − 𝜇𝑎2
2|, and from (24) substituting 3(2𝛼 + 1)Β |𝑎3 − 𝜇0𝑎2

2|, and from (27) 

substituting |𝑎2
2|, 

and, we have 

 |𝜇0 − 𝜇| = |
2(1 − 𝛾)(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
− 𝜇|, 

= |
2(1 − 𝛾)(𝛼 + 1)2Α2

3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))Β
−
3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))𝜇Β

3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))Β
|, 

because Positive 0 ≤ 𝛼 < 1 <   ,0 ≤ 𝛽 < 1  , 
0 ≤ 𝛾 < 1 <  ,𝓌2 ≥ 𝑑2 , 

|𝜇0 − 𝜇| =
2(1 − 𝛾)(𝛼 + 1)2Α2 − 3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))𝜇Β

3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))Β
  , (29) 

Now substituting in (28), we get  
3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2

2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2 +

4(𝛼 + 1)2(1 − 𝛾)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2𝜇Β

+ 3(2𝛼

+ 1)Β(
2(1 − 𝛾)(𝛼 + 1)2Α2 − 3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))𝜇Β

3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))Β
)(
(𝓌2 − 𝑑2)(1 −  𝛽) + (1 − 𝛾)

(𝓌2 − 𝑑2)(𝛼 + 1)Α
)

2

, 
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3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+       2(1 − 𝛽)

+      
4(𝛼 + 1)2(1 − 𝛾)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2Β
(
3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2(1 − 𝛾)(𝛼 + 1)2Α2
) −      

4(1 − 𝛾)2

     (𝓌2 − 𝑑2)
2

+ (
2(1 − 𝛾)(𝛼 + 1)2Α2 − 3(2𝛼 + 1)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))𝜇Β

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

) ((𝓌2 − 𝑑2)(1 −  𝛽)

+ (1 − 𝛾)), 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) +

2(1 − 𝛾)((𝓌2 − 𝑑2)(1 −  𝛽) + (1 − 𝛾))

(𝓌2 − 𝑑2)
2

−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
2(1 − 𝛾)(𝛼 + 1)2Α2((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

−
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2 ≤|

4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽)

+
2(1 − 𝛾)((𝓌2 − 𝑑2)(1 −  𝛽) + (1 − 𝛾))

(𝓌2 − 𝑑2)
2

−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2

+
2(1 − 𝛾)((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

(𝓌2 − 𝑑2)
2

−
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) +

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
2(1 − 𝛾)(𝓌2 − 𝑑2)(1 −  𝛽)

(𝓌2 − 𝑑2)
2

−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
2(1 − 𝛾)(𝓌2 − 𝑑2)(1 − 𝛽)

(𝓌2 − 𝑑2)
2

−
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) +

4(1 − 𝛾)(1 −  𝛽)

(𝓌2 − 𝑑2)

−
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

.  30)      

Consider 

  𝜇 = 𝜇1 =
2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β
 ,         (31) 

subsutating in (24), we get  

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|     

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2

+
(3)4(𝛼 + 1)2(1 − 𝛾)2Α2 (2𝛼 + 1)Β

(2)3(2𝛼 + 1)(𝓌2 − 𝑑2)
2Β (𝛼 + 1)2Α2

 , 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2| ≤

4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) +

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
−
4(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
 , 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2| ≤

4(1−𝛾)2𝑑2

(𝓌3−𝑑3)(𝓌2−𝑑2)
+

2(1−𝛾)

𝓌3−𝑑3
+ 2(1 − 𝛽) −

2(1−𝛾)2

(𝓌2−𝑑2)
2 .                (32)  

 

Now Case 𝜇2 < 𝜇 , 
𝑎3 − 𝜇𝑎2

2 = 𝑎3 − 𝜇2𝑎2
2 + 𝜇2𝑎2

2 − 𝜇𝑎2
2  = 𝑎3 − 𝜇2𝑎2

2 + (𝜇2 − 𝜇)𝑎2 
2 ,      (33) 

|𝑎2|
2 ≤

((1 − 𝛽)(𝓌2 − 𝑑2) + (1 − 𝛾))
2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

 

 Defined condition  𝜇2 < 𝜇 , 
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4(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2

≤ −
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
−
2(1 − 𝛾)

𝓌3 − 𝑑3
− 2(1 − 𝛽) −

4(1 − 𝛾)(1 −  𝛽)

(𝓌2 − 𝑑2)

+
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

we but 𝜇 in the right tip:   

8(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

+
4(1 − 𝛾)

𝓌3 − 𝑑3
+ 4(1 − 𝛽) −

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
+
4(1 − 𝛾)(1 − 𝛽)

(𝓌2 − 𝑑2)
           

≤
3(2𝛼 + 1)𝜇Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

we divide all terms by a coefficient, we get  

8(1 − 𝛾)2(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2𝑑2

3(2𝛼 + 1)(𝓌2 − 𝑑2)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

+
4(1 − 𝛾)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

+
4(1 − 𝛽)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

−
2(1 − 𝛾)2(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)
2Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))

2

+
4(1 − 𝛾)(1 − 𝛽)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌2 − 𝑑2)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 ≤ 𝜇. 

 

 

8(1 − 𝛾)2(𝓌2 − 𝑑2)(𝛼 + 1)
2Α2𝑑2

3(2𝛼 + 1)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 +

4(1 − 𝛾)(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

+
4(1 − 𝛽)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 −

2(1 − 𝛾)2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

+
4(1 − 𝛾)(1 − 𝛽)(𝓌2 − 𝑑2)(𝛼 + 1)

2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 ≤ 𝜇. 

 

Now subsutating in this inequality  

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2| ≤ 3(2𝛼 + 1)Β|𝑎3 − 𝜇2𝑎2

2| + 3(2𝛼 + 1)Β|𝜇2 − 𝜇||𝑎2|
2, 

From (31) and we multiply this |𝜇2 − 𝜇| in negative 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2

+ 3(2𝛼 + 1)Β(−
8(1 − 𝛾)2(𝓌2 − 𝑑2)(𝛼 + 1)

2Α2𝑑2

3(2𝛼 + 1)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

−
4(1 − 𝛾)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)(𝓌3 − 𝑑3)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

−
4(1 − 𝛽)(𝓌2 − 𝑑2)

2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 +

2(1 − 𝛾)2(𝛼 + 1)2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2

−
4(1 − 𝛾)(1 − 𝛽)(𝓌2 − 𝑑2)(𝛼 + 1)

2Α2

3(2𝛼 + 1)Β((1 − 𝛾) + (𝓌2 − 𝑑2)(1 − 𝛽))
2 + 𝜇)(

((1 − 𝛽)(𝓌2 − 𝑑2) + (1 − 𝛾))
2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

) , 

we get 
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3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
+
2(1 − 𝛾)

𝓌3 − 𝑑3
+ 2(1 − 𝛽) −

2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2
−

8(1 − 𝛾)2𝑑2
(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)

−
4(1 − 𝛾)

(𝓌3 − 𝑑3)
− 4(1 − 𝛽) −

4(1 − 𝛾)(1 − 𝛽)

(𝓌2 − 𝑑2)
+
2(1 − 𝛾)2

(𝓌2 − 𝑑2)
2

+
3(2𝛼 + 1)𝜇Β((1 − 𝛽)(𝓌2 − 𝑑2) + (1 − 𝛾))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

, 

then 

3(2𝛼 + 1)Β|𝑎3 − 𝜇𝑎2
2|

≤ −
4(1 − 𝛾)2𝑑2

(𝓌3 − 𝑑3)(𝓌2 − 𝑑2)
−
2(1 − 𝛾)

𝓌3 − 𝑑3
− 2(1 − 𝛽) −

4(1 − 𝛾)(1 − 𝛽)

(𝓌2 − 𝑑2)

+
3(2𝛼 + 1)𝜇Β((1 − 𝛽)(𝓌2 − 𝑑2) + (1 − 𝛾))

2

(𝓌2 − 𝑑2)
2(𝛼 + 1)2Α2

.  ∎ (34) 

The many works already done on analytic functions associated by derivative operator see these references [6-12]. 

conclusion   

In this paper, we studied Fekete-szego inequality defined on the new class of analytic univalent functions in open 

unit disk by using a new generalized derivative operator and Hadamard product with a normalized analytic function. 
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